10049200

EAGLE, GM-CHEVROLET, JEEP

¥
v 1) 2 Kom 5) <> 1) 15 Ibft 5) <>
(”ﬁ// ) ﬂS GASOLINA 1 2)-90°+2 Kom 6) 20° 2)-90°+15 Ibft 6120°
3) 105° 3) 105°
4) 105° 4) 105°
() 2 1) 2 Kom 5) <> 1) 15 Ibft 5) <>
2)-90°+2 Kpm 6) 20° 2) -90°+15 Ibft 6) 20°
m 3) 105° 3) 105°
4) 105° 4) 105°
3 pm 1) 15 Ibft
2) -90°+2 Kom 2) -90°+15 Ibft
105 3) 105°
- 4) 105! 4)105
2 . 1) 2 Kpm 1) 15 Ibft
cc. 19952165 coof[ 1 82788 wm J 4 2) 200°+2 Kom 2)-90°+15 Ibft
3) 105° 3) 105°
1| J7T 4) 105° 4)105°
-2 | J7TR-752,J7R-756
3 | J7TJ7T-600;J7T-708;J7T-733;J7T-754;J7T-755;,J7T-770;J7T-
772,J7T-773;J7T-776;J7T-780;J7T-782;ZDJL
4 | J5R;J5R-716;J5R-718;J5R-726;J5R-728;J6R-234;J6R-236;J6R- @ = @ =
706;J6R-707;J6R-762;J6R-763;J6R-829;J7R;J7R-746;J7R- ~——  (Kp.m) S (b#)
750;ZEJ(829)
1,2,3,4 NO 1,2,3,4 NO
RETIGHTENING RETIGHTENING
R et
ROUGHNESS
1 81011700 M12X1.50X255(10) I @ @ @ @
2 81011600 M12X1.50X242(10) @ E>
3 | 81011700  M12X1.50X255(10) ool BTG 2.3 um MAX @ @ @
e
CAST IRON
4 81011600 M12X1.50X242(10) FUNDICION 1.5/1.8um 3.8 um MAX TORQUE SEQUENCE
© ED AJUSA IS NOT RESPONSIBLE FOR ANY UPGRADE
»900 T AFTER THIS DOCUMENT HAD BEEN PRINTED.

CHECK CATALOG

ORDEN

o ieds sou
-180° Ao rososios omaos

<>

FOR MORE INFO, PLEASE SCAN THIS QR CODE
OR VISIT OUR WEBSITE www.gjusa.es

AJUSA NO SE RESPONSABILIZA DE CUALQUIER

ACTUALIZACION POSTERIOR A LA IMPRESION

DE ESTE DOCUMENTO. PARA MAYOR
INFORMACION CAPTURE CON SU SMARTPHONE
EL SIGUIENTE CODIGO QR O VISITE NUESTRA
PAGINA WEB www.ajusa.es

)

=] [s]
=]




